Homework 31.1

An oscillating LC circuit consists of a 75.0 mH inductor and a 3.60 yF capacitor. If the maximum charge on
the capacitor is 2.90 puC, what are the (a) total energy in the circuit and (b) the maximum current?
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Homework 31.35

A coil of inductance 88 mH and an unknown resistance and a 0.94 yF capacitor are connected in series with
an alternating emf of frequency 930 Hz. If the phase constant between the applied voltage and the current is

75°, what is the resistance of the coil
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Homework 31.39

Remove the inductor from the circuit in Fig. 31-7 and set R =200 Q, C =
15.0 pF, f4 =60.0 Hz, and §,;, = 36.0 V. What are (a) Z, (b) ¢, and (c) / ? (d) ¥

,...L,.,
YWWWA
R
raw a phasor diagram. E
£11A
R dsanund

S
G A

2
Figure 31-7 A single loop
circuit containing, a resistor, a
. capacitor, and an inductor. A
generator, represented by a
' sine wave in a circle, produces
an alternating emf that
establishes an alternating
. current; the direction of the
s emf and current are indicated
) ) - I7éf ‘ ’;;m& here at only one instant.
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Homework 31.53

An air conditioner connected to a 120 V rms ac line is equivalent to a 12 Q resistance and a 1.3 Q inductive
reactance in series. Calculate (a) the impedance of the air conditioner and (b) the average rate at which

energy is supplied to the appliance.
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Homework 31.63

A transformer has 500 primary turns and 10 secondary turns. (a) If V, is 120 V (rms), what is Vg with an
open circuit? If the secondary now has a resistive load of 15 Q, what is the current in the (b) primary and (c)

secondary?
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